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BAfEEA : 4% 64 58268 (B) ‘ NFEHY Y —s5F
B HDCPA »F w & A (WHS) smA% 43N (B 434 - &M 0N)
HDCP LR : 50 LT &L
I—R LA ] /1
FUHESLIRE : ~—T7 Ry b UhESWIE) - Tz 2b (077 3k S WR) FORL : %0 64F 58260 (H)
g BnE4 & i GROSS HDCP NET I3
B | AR ZIL 36 39 75 11.0 64. 0
B3| KAR BEE 36 43 79 11. 0 68. 0
L) = IEE 43 39 82 13.0 69.0
Ve 41 39 80 9.0 71.0
E:p N 41 40 81 10. 0 71. 0
| e F)E 40 40 80 9.0 71.0
O BRE RRER 40 44 84 13.0 71.0
FiH R 47 46 93 21.0 72.0
EIES 43 43 86 13.0 73.0
) R B 42 43 85 12.0 73.0
FE ER 39 43 82 9.0 73.0
X # 49 49 98 24,0 74. 0
Prr FE 50 42 92 17.0 75.0
HE IEFD 47 44 91 16.0 75.0
i | EK BE 42 42 84 9.0 75.0
KA IE 48 46 94 18.0 76. 0
17 fif | HH F|/E 43 44 87 11.0 76. 0
18 {if | 518k B 46 43 89 12.0 77.0
19 7 |Bx0 FH 50 47 97 20.0 77.0
20 i |BEH Flx 4] 46 87 10. 0 77.0
21 {i [#)I] = 49 45 94 16. 0 78.0
22 fir |WF #5% 50 47 97 19.0 78. 0
23 {ir [kl Bia 46 46 92 14. 0 78.0
24 7 [AE & 42 44 86 8.0 78. 0
25 {ir [58H —HI 45 40 85 6.0 79. 0
26 i |3RH B 49 46 95 16. 0 79. 0
27 {7 [{EiE &+ 42 42 84 5.0 79. 0
28 fif | v EL=AR 41 44 85 6.0 79. 0
29 {ir | njig 15 43 48 91 12.0 79. 0
30 {7 | @i ——= 47 42 89 9.0 80. 0
31 fif | KA & 46 45 91 11.0 80.0
32 {if | Tik 3 _ 53 46 99 18.0 81.0
33 fif | HHFT ZE 46 44 90 9.0 81.0
M4 fr | HE ¥— 48 46 94 13.0 81.0
35 i | Tk XF 50 47 97 15.0 82.0
36 r | fRT IRE 46 47 93 11.0 82.0
37 I | BT M 47 52 99 17.0 82.0
38 fif | mkH R 44 50 94 12.0 82.0
39 I |fEEk B 52 49 101 17.0 84.0
40 7 | Pt Foig 53 54 107 19.0 88. 0
41 i | kG 53 52 105 15.0 90. 0
42 ir | THE #5K 44 58 102 7.0 95. 0
0 0

108.

AF HIC 56 52 108 0.
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BEHE . HDCPA »F v 7 AHR(WHS) BMAK : 33N (BHE: 33N - &k 0A)
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NEAL ZNE 4 i [ic} GROSS | HDCP NET i &
& BlEH F5 41 | 40 811 12.0 69.0
EEE AR HAR 38 | 42 80 | 10.0| 70.0
3P0 RAR E 43 43 86 | 14.0| 72.0
4 S| Al JEA 37 39 76| 4.0 72.0
5 [ |fEx K Bk 43 37 80| 7.0 73.0
6 fp| B 7% 41 41 82| 9.0 73.0
10| FR BH 34 44 78| 4.0 74.0
8 o | /bR e 43 45 88| 13.0| 75.0
9 L |FME RAT 45 41 86| 10.0| 76.0
10 2 |fEH 1ETR 42 42 84| 8.0| 76.0
11 { |FRH B 49 45 94 | 17.0| 77.0
12 7 | Adk A 43 44 87 | 10.0| 77.0
13 fif | T =% 44 46 90 | 13.0| 77.0
14 {iL |FF P 8 39 43 82| 5.0| 77.0
15 if | &5 H Eis 44 49 93 | 16.0| 77.0
16 (i | =F %58 47 40 87| 9.0| 78.0
17 | TRE =i 46 45 91 | 13.0| 78.0
18 i | KA #E 39 42 81 3.0 78.0
19 L |58 FH 41 45 8| 8.0| 78.0
20 AL |ZgH Bk 49 41 90 | 11.0| 79.0
21 if | KB &k 47 45 92 | 13.0| 79.0
22 L [BEIL BB 43 43 86| 7.0 79.0
23 AL [#51L &l— 53 46 99 | 19.0| 80.0
24 fif | K= == 44 43 87| 7.0| 80.0
25 L 1R IEJE 42 47 89| 9.0| 80.0
26 AL | FI T 44 42 86| 5.0| 81.0
27 {if |MHEE =5 47 48 95| 13.0| 82.0
28 {if | iE 1= 49 49 98 | 15.0| 83.0
29 iz |AAL Es 36 53 89| 6.0| 83.0
30 A | Ml foRE 48 44 92 | 8.0 84.0
31 fif |\ FHi 49 50 99 | 13.0| 86.0
32 iz | BJI KA 50 51 101 | 14.0| 87.0
33 L /G EE 56 53 109 | 16.0| 93.0
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JIE {7 Z2ME 4L o [if] GROSS | HDCP NET {5
TH M 39 | 38 77| 9.0 68.0
EEP| RR BT 43 | 46 89 | 19.0| 70.0
G fD|EA BEF 43 | 43 86 | 15.0 | 71.0
4 L |E KT 43 47 90 | 19.0| 71.0
5 fi [48H EHET 58 50 108 | 35.0 | 73.0
6 i | E 3T 40 46 86| 13.0| 73.0
7T L | BN EfH 47 48 95 | 20.0| 75.0
8 fif |ILF =3 51 48 99 | 23.0| 76.0
9 A7 [db)I] FnEF 53 56 109 | 30.0| 79.0
10 i |AHF BHiTH 49 47 96 | 14.0| 82.0
11 if | KAR EFEE 47 51 98 | 16.0| 82.0
B B |JIIsFH EF 49 55 104 | 19.0| 85.0
B M|EF ba2F 49 56 105 20.0| 85.0




